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(a) Given s* + 4, use Routh-Hurwiz table to determine its stability. (5 pts).

(b) Determine the steady-state error for unity feedback of a stable type n
system KG(s) when its system input is £*/ (5 pts). -

(c) Adding a zero located in the LHP to a system’s forward transfer
function KG(s) has what effect on the root loci (5 pts).

- (d)Please explain why the complex poles and zeros of a system KG(s) do
~ not affect the root locus on the real axis. (5 pts).

(¢) Constant peak time is; equivalent to a hoyizontal line in the s plane,

Intersecting the jwaxisat  apd constant settling time can be
viewed as a vertical line in the s plane, intersecting x-axis at - (5
pts).
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